Run 4593 triggerwise, sums: All

ol

Entries: 4342590

Mean: 4436.6220 +/- 2.0794

Std Dev: 4333.1990 +/- 1.4703
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Entries: 1121011

Mean: 5

63 +/-5.0295

Std Dev: 5325.1184 +/- 3.5564
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Run 4593 triggerwise, sums: Beam OFF

Entries: 2924

Mean: 1051.7880 +/- 12.2190

Std Dev: 660.7316 +/- 8.6402

80 &
60—
a0
20
bl Ly v Yan tw by el v L ia
0 1000 2000 3000 4000 5000 6000 7000 8000
sum
Run 4593 triggerwise, sums: Beam ON, Laser OFF
x10°
o Helicity==
— Helicity==1

Entries: 987464

Mean: 3416.6285 +/- 2.4939

Std Dev: 2478.2527 +/- 1.7635
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